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S . 32 Deprecation



Topic: DEPRECIATION . At HALF RATE

Asset Puch Asset But to use But to Use > RateDe

109412023 23-z 192023 23-2 2und full

1012/202323-24 3/10/202323-24 1819 full

10/710023 23-24 4/10/2023 23-24 180d full

1014/2023 23-2 510 /2023 23-2 179d Half
10172023 23.2 28/3/2024 25-24 4d Half
10/112023 23-2 281412024 24-25 Not Releort full

10/1202325-2 28131202524-25 Not Relevant full

* full Rate of Deprecation - C .WDY of block
* Half Rott of Depreciation=> Assu value ·



eq B1OU-15%
&

y 2023- 24

Op IIDY AIBIC = 10 ,00 ,000
B1OU 15%

Asset Duch But to use value E
D 1017123 157123 2,00,000 op WDY (AIBIC)

10 ,00 ,000

-

T2 1018123 5/10923 1 ,50 ,000 I Asset Duch .

F 23-24 1019123 113125
zu-25 3 ,00 ,000 D 2100 ,000
--

23-2 E 1 , 50 ,000

Asset 13 Sold 111124 =

=2 ,00 ,000 E 3 1001 000 6 ,50 ,000

C3019 12125= -1100 ,000 sold (B) (200 ,000)

24-25 closing WDX 14 ,50 ,000

Calculate Dep 23-2 & 24-25 -

Balanc

By 23-24 Total Dep L L 21 .NDY

& 11250 + 150000 F E is FloL
I 161250 Not put to Acaud put to #

use use in 2023-24 full rat
Meet year op WDY . 3 ,00,000

& PTU <180d Dep
= 14 ,50 ,000-161250

H ↓X in 102X 15%

I 12 , 88 ,750 MO 3 23- 24 150000X7.5% =150000De
= 11250



94 2024-25
I

2

Op WDv (A//D/R/F) 12 , 88 ,750

+ Asset purch during year
-

- Asset sold 1 100 ,000

C1 .WDv 313 125 11 , 88 ,750

Half rote
-

1188750x 15% 1 ,78 ,313Fru ⑪ ②
Mote- first change Half rate of Dep & the or bolarc CwDy-

full dep is changed 4423-2

eq 1910U 15% Op WDV(A/DIC) 10 100 ,000
-

op WDV /ABIC) 10100 ,000 Asset Purchase
ASet Duch & fut to use valve D 200000

D 1017123 200000 E (1790) 300000 5 ,00 ,000

re 510923 300000 sold B &2 6 1001000

21 .WDV 9 ,00 ,000

Asset Bac Soil * 6 ,00 1000 Half rate = 32x7 .50% 22500

fullrate= 19232) x 15% 90 ,000
Calculate Dep Total Dep > 1 ,12 , 500



suppose In Above Oreshor Bac Sold for $12 ,50 ,000

4423-2
Op WDV(A/DIC) 10 100 ,000

Asset Purchase
D 200000

E (1790) 300000 5 ,00 ,000

Sold Bac (12 ,50 ,000)
21 .WDV 2 ,50 1000

Half rate 250000 x7 .5% 18750

full rai
-

18 ,750
-

-



compare dwDy with Value 4 Asset eligible for Half rate Dep
&

N .WDV> Half Rate Asict Value

Yeste
-

MO

to
-

Half rate Asset =D Charge He only half race of Dep
Bol MwDu =b Change IR is charger

MON If Asset is

by
during the year & sold in same

>

-> Thn
Purchand

year NO D is allower or that Asset

14 PY 23-M 213

I y ⑧ I

A/B12
3117 31112 A/MC

111
D

purch
se,d NO dep allower or

Noth .
D
-
--



Bloc 15%

eq Op Wav AD 14923 & 4 ,00,000

Assets Purch & Put to use lops -3 ,00 ,000
1799

Asset C Sold 1013124 * 2 ,00 ,000

Calculair Dep 23-24

B1OU - 1500

E
Op WDV AlB 4100 ,000

I Asset · C 3 .,001000

Asset
Purch

- sold
·C 12,00 ,000)

21 -LDV(A/B) 5 ,001000 #

Half rat /No Half Rate As Asset s is -

sold during By(

fullrate In x 1500 75000



suppose in Above Eg is is sold
B1OU - 1500

E
Op WDV AlB 4100 ,000
+ Asset purch

· C 3 .,001000

- Asset sold
'B 12,00 ,000)

21 .WDV /A/2) 5 ,001000 #

Half rai 32& 7 ,50 % 22500

full rate 22& 15% 301000
--

52500

suppose in Above Eg A2B Sold
B1OU - 1500

E
Op WDV AlB

· Cl
4100 ,000

+ Asset purch ·
A & n

3 .,001000

- Asset sold 12,00 ,000)
21 -WDV (2) 5 ,001000 #

Half rate 32@ 7 50 % 22500

full rac 22915% 301000
--

52500



E
(A) op WDV &x/4) 6 ,00,000

I Purch (2) 3 ,00,000

-

sold (2) 14 ,00,000)
4 . WDV (X/4) 5

,00 ,000
e

Half-rate IMA , As Assu 2 Sold) -

full rat 52x 15% 75,000

(BS E
op WDV &x/4) 6 ,00,000

I Purch (2) 3 ,00,000

-

sold (X) 14 ,00,000)
4 . WDv (4/2) 5

,00 ,000
e

HR 3LX 7 .50% 22 , 500
-

&

(5L-32)x15% 330,000
-

52500



E
op WDV &x/4) 6 ,00,000

I Purch (2) 3 ,00,000

-

sold IX/YS 14 ,00,000)
4 . wDv(z) -000

HR 3) X 7 .50% 22 , 500
-

&

(5L-32)x15% 330,000
-

52500

Deprecator Allower if following 2 Lord are salified :"

199 If Asset exist in Block or last day of By
13 Bloc has value or lost day of By



WHEN NO DEPRECIATION IS ALLOWED

As her All the Assess of Bloc Are sold
TBC wine few p atBlous are said but sale value
enter

(A) Wher All Assets of Block are Sold

· NO Dep allower As Block Ceases AO exist
↳ Blow do is int exist Any more

servators sale value Bloue value (situation of Punits

ups 50 Short Term Cap . Gain = sale Valve-Blou value

sitvanone sale Valme <Mou value /Situation of loss)

up 50 short turn lap . Loss = Blou Value-sale Value



29
1910c - 15%

Op : KIDY ABIC * 10 ,00,000
= [14 ,00 ,000

Asset Purch bl * 4 ,00,000

All Assets Sold for
(A) 12 , 50 , 000

1131 16 ,00,000

DP -> No De allowed of 32 . As Al Asses of block are
Sold ie BOCK ceases to Exist

win cap . Gair

(A) Sale Value = 12 , 50 ,000

~Is STCL=> Block Value-sale Value
=> 14 100 ,000 - 12 , 50 ,000

I 1 ,50 ,000



(B) Sale Valve = 16 ,00 ,000

ups 50 sty = Sale Value-Moc Value
= 16 ,00 ,000 - 14 ,00 ,000

= 2 ,00 ,000 .

ED lacher few Assets of Block are sold but sale value xceed
110UC value

~indus : No Dep Howry , As Block Exist with "MiL Value"

uncap.Gain st up 50 => Sale Value-block Value

&q Op WD ABIC =6 100 ,000

-quo But to os 1123 =200000

Asset is & C Sold
199

=> 41001000 (6) =5 ,00 ,0009- 9
-

--
-



(A) [BS

Op WD BIC) 6 100 ,000 6100 ,000

- Quan out to use ID 200 ,000 2. 001000

H Sold DIC 18100 ,000) 15 ,00 ,000)
C .WDV [A/D)

&

Nic
S

3 ,00 ,000

P C1 .WDV . MIL 32X 15%De & 15% M
A

= 45000 Dep
* Block exist but with allow

MIL value -
* Blou of Next year Asset B1OU

With MIL Op WDV .
AD ↳0x

wis u
& xist value

in bloc

up 50 STcy = Sale Valve-Blou Value
I 9100 ,000 - 8 ,00,000 L
- 1 ,00,000 Meet year
-

op WDV AID Mih M1L

I &ch -
-

- sold - -

-

⑧ TCIWDV ↑D Nic
e -
-

H
MO dep
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